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QUESTION 1

An opportunity record, created with a close date of July 30, meets the criteria of a time-dependent workflow rule. The
time-dependent action is scheduled for July 23.

What happens if the opportunity is edited before July 23 and no longer meets the criteria?
A. The time-dependent action is automatically removed from the queue.

B. The time-dependent action will execute on July 30.

C. The time-dependent action is put on hold.

D. The time-dependent action will execute on July 23.

Correct Answer: A

QUESTION 2

Under which three conditions should a validation rule be used to prevent invalid data? (Choose three.)
A. When records are deleted by a user.

B. When records are imported.

C. When records are submitted using web-to-lead.

D. When records are updated by a workflow rule.

E. When records are edited and saved by a user.

Correct Answer: BCE

QUESTION 3

Which two can be done with a workflow field update action? (Choose two.)
A. Update the value of a field on a child object.

B. Change the record type of a record.

C. Apply a specific value to a field.

D. Select a formula field for a field update.

Correct Answer: BC

QUESTION 4
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A user is having trouble logging into Salesforce. The user\\'s login history shows that this person has attempted to log in
multiple times and has been locked out of the organization.

Which two ways should the administrator help the user log into Salesforce? (Choose two.)
A. Click Unlock on the user\\'s record detail page.

B. Log in as the user and enter a new password.

C. Click Reset Password on the user\\'s record detail page.

D. Send an email to the user containing the user\\'s password.

Correct Answer: AC

QUESTION 5
Universal Containers has three different support groups. Each group works cases for their region only.

How can the System Admin ensure that all the Support Representatives within each region can manage cases
generated from only their region in a private org?

A. Create a Support Representative role for each region.
B. Create territory members for each region.

C. Create a queue for each region.

D. Create a predefined case team for each region.

Correct Answer: B
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